
1.9

Serie 50000

L1

D

B

A

CH2

CH1

L
2

Code Tube A B L1 L2 CH1 CH2 D Pack.

50106 00 001 4 1/8 8.5 18 19 9 13 10 10

50106 00 002 4 1/4 11 18 21.5 9 16 10 10

50106 00 003 6 1/8 8.5 21 20.5 11 13 12.5 10

50106 00 004 6 1/4 11 21 23 11 16 12.5 10

50106 00 005 8 1/8 8.5 22.5 22 12 13 14.5 10

50106 00 006 8 1/4 11 22.5 24.5 12 16 14.5 10

50106 00 007 8 3/8 12 22.5 24.5 12 13 14.5 10

New50106 
RACCORDO A L ORIENTABILE FEMMINA 

ORIENTING ELBOW FEMALE ADAPTOR 

AUFSCHRAUB-WINKELSCHRAUBUNG (DREHBAR) 

EQUERRE ORIENTABLE FEMELLE 

RACOR A L ORIENTABLE HEMBRA 

CONEXÃO EM “L” ORIENTÁVEL COM ROSCA FÊMEA 

50111
RACCORDO A L ORIENTABILE  MASCHIO “UNIVERSAL SHORT” 

ORIENTING ELBOW MALE ADAPTOR “UNIVERSAL SHORT” 

WINKELVERSCHRAUBUNG KONISCH (DREHBAR) “UNIVERSAL SHORT”  

EQUERRE ORIENTABLE  MÂLE, CONIQUE “UNIVERSAL SHORT” 

RACOR A L ORIENTABLE MACHO CÓNICO “UNIVERSAL SHORT” 

CONEXÃO MACHO EM “L” ORIENTÁVEL COM ROSCA “UNIVERSAL SHORT”

50116
RACCORDO A L ORIENTABILE MASCHIO CILINDRICO 

ORIENTING ELBOW MALE ADAPTOR (PARALLEL) 

WINKELVERSCHRAUBUNG ZYLINDRISCH (DREHBAR) 

EQUERRE ORIENTABLE  MÂLE, CYLINDRIQUE 

RACOR A L ORIENTABLE MACHO CILÍNDRICO CON TÓRICA 

CONEXÃO MACHO EM “L” ORIENTÁVEL COM ROSCA PARALELA

B

D

L1

L
2

CH2

CH1

A

Code Tube A B L1 L2 CH CH2 D Pack.

50111 00 001 4 1/8 5.5 18 19.5 9 13 10 10

50111 00 002 4 1/4 7 18 21 9 15 10 10

50111 00 003 5 1/8 5.5 20 21.5 11 13 12.5 10

50111 00 004 6 1/8 5.5 21 21.5 11 13 12.5 10

50111 00 005 6 1/4 7 21 23 11 15 12.5 10

50111 00 006 8 1/8 5.5 22.5 24 12 13 14.5 10

50111 00 007 8 1/4 7 22.5 24 12 15 14.5 10

50111 00 008 8 3/8 7.5 22.5 24.5 12 17 14.5 10

50111 00 009 8 1/2 9 22.5 27 12 21 14.5 10

50111 00 010 10 1/4 7 26.5 26.5 14 16 17.5 10

50111 00 011 10 3/8 7.5 26.5 24.5 14 17 17.5 10

50111 00 012 10 1/2 9 26.5 27 14 21 17.5 10

50111 00 013 12 3/8 7.5 31.5 26.5 16 20 21.5 10

50111 00 014 12 1/2 9 31.5 29 16 21 21.5 10

50111 00 015 14 3/8 7.5 31.5 27 16 20 21.5 10

50111 00 016 14 1/2 9 31.5 29.5 16 21 21.5 10

A

D

L1

CH1

CH2

B

L
2

Code Tube A B L1 L2 CH1 CH2 D Pack.

50116 00 001 3 M5 3.5 16.5 17.5 9 8 10 10

50116 00 002 4 M5 3.5 18 17.5 9 8 10 10

50116 00 003 4 1/8 5.5 18 18 9 13 10 10

50116 00 004 4 1/4 7 18 18 9 16 10 10

50116 00 005 5 M5 3.5 20 20 11 11 12.5 10

50116 00 006 5 1/8 5.5 20 20 11 13 12.5 10

50116 00 007 6 M5 3.5 21 20 11 11 12.5 10

50116 00 008 6 1/8 5.5 21 20 11 13 12.5 10

50116 00 009 6 1/4 7 21 21.5 11 16 12.5 10

50116 00 010 8 1/8 5.5 22.5 22.5 12 13 14.5 10

50116 00 011 8 1/4 7 22.5 23 12 16 14.5 10

50116 00 012 8 3/8 8 22.5 25 12 20 14.5 10

50116 00 013 8 1/2 9.5 22.5 26.5 12 25 14.5 10

50116 00 014 10 1/4 7 26.5 25.5 14 16 17.5 10

50116 00 015 10 3/8 8 26.5 25 14 20 17.5 10

50116 00 016 10 1/2 9.5 26.5 26.5 14 25 17.5 10

50116 00 025 12 1/4 8 31.5 27.5 16 20 21.5 10

50116 00 017 12 3/8 8 31.5 27 16 20 21.5 10

50116 00 018 12 1/2 9.5 31.5 28.5 16 25 21.5 10

50116 00 019 14 3/8 8 31.5 27.5 16 20 21.5 10

50116 00 020 14 1/2 9.5 31.5 29 16 25 21.5 10

50116 00 021 6 M12x1 7.5 20 22 11 16 12.5 10

50116 00 022 6 M12x1.25 7.5 20 22 11 16 12.5 10

50116 00 023 6 M12x1.5 7.5 20 22 11 16 12.5 10

50116 00 024 8 M12x1.5 7.5 22.5 23.5 12 16 14.5 10


